Converting Between mm and m (A)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base

+ = R R = > X
G M k h dai 'd ¢ m 2 n
987654321E-f)":—1-2—345—6789

1. Convert 4,79 m to mm

2. Convert 48.600 mm to m

3. Convert 0,808 m to mm

4. Convert 89.200 mm to m

5. Convert 810.000 mm to m

6. Convert 5200 mm to m

7. Convert 0,652 m to mm

8. Convert 0,00069 m to mm

9. Convert 5,6 m to mm

10. Convert 1730 mm to m
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Converting Between mm and m (A) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 7 s § g ig g g =
B E T & <9 139 8 E E &
- < : — : : —p X
G M k h da: *'d ¢ m M n
9 8 7 6 5 4 3 2 15 -1 -2 3 4 -5 6 -7 -8 -9

1. Convert 4,79 m to mm
4,79m X 10 X 10 X 10 = 4790 mm
2. Convert 48.600 mm to m
48.600mm - 10+10+ 10 =48,6 m
3. Convert 0,808 m to mm
0,808 m X 10 X 10 X 10 = 808 mm
4. Convert 89.200 mm to m
89.200mm = 10+ 10+ 10 = 89,2m
5. Convert 810.000 mm to m
810.000mm =+ 10 +- 10+ 10 = 810m
6. Convert 5200 mm to m
5200mm +-10+10=+10=5,2m
7. Convert 0,652 m to mm
0,652m X 10 X 10 X 10 = 652 mm
8. Convert 0,00069 m to mm
0,00069m X 10 X 10 X 10 = 0,69 mm
9. Convert 5,6 m to mm
5,6 m X 10X 10 X 10 = 5600 mm

10. Convert 1730 mm to m
1730mm +-10+-10+-10=1,73m
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Converting Between mm and m (B)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
~ < i T ' ' > X
G M k h da:i id ¢ m W n
9876543215"“.—1-2—345—6789
1. Convert 15.500 mm to m
2. Convert 495.700.000 mm to m
3. Convert 0,0026 m to mm
4. Convert 0,09307 m to mm
5. Convert 9550 mm to m
6. Convert 0,00051 m to mm
7. Convert 210 mm to m
8. Convert 51,89 m to mm
9. Convert 590.000 mm to m
10. Convert 27,32 m to mm
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Converting Between mm and m (B) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 7 s § g ig g g =
B E T & <9 139 8 E E &
- < : e ———— : —p X
G M k h da: *'d ¢ m M n
9 8 7 6 5 4 3 2 15 -1 -2 3 4 -5 6 -7 -8 -9

1. Convert 15.500 mm to m
15.500mm - 10+ 10+ 10 =15,5m
2. Convert 495.700.000 mm to m
495.700.000 mm =+ 10 =10 =+ 10 = 495.700 m
3. Convert 0,0026 m to mm
0,0026 m X 10 X 10 X 10 = 2,6 mm
4. Convert 0,09307 m to mm
0,09307m X 10 X 10 X 10 = 93,07 mm
5. Convert 9550 mm to m
9550 mm =10+ 10+ 10 =9,55m
6. Convert 0,00051 m to mm
0,00051 m X 10x 10X 10 = 0,51 mm
7. Convert 210 mm to m
210mm +-10=+10+10=0,21m
8. Convert 51,89 m to mm
51,89m X 10 X 10 X 10 = 51.890 mm
9. Convert 590.000 mm to m
590.000mm =+ 10 +10+10 =590m
10. Convert 27,32 m to mm
27,32m X 10 X 10 X 10 = 27.320 mm
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Converting Between mm and m (C)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base

- <« | T ' ' > X
G M k h dai 'd ¢ m 2 n
9876543215_?“:-1-2-345-6789

1. Convert 33,51 m to mm

2. Convert 78.310 mm to m

3. Convert 0,057 m to mm

4. Convert 8.070.000 mm to m

5. Convert 5.300.000 mm to m

6. Convert 0,00093 m to mm

7. Convert 1200 mm to m

8. Convert 5,505 m to mm

9. Convert 92.600 mm to m

10. Convert 0,00031 m to mm
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Converting Between mm and m (C) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 7 s § g ig g g =
B E T & <9 139 8 E E &
- < : — : : —p X
G M k h da: *'d ¢ m M n
9 8 7 6 5 4 3 2 15 -1 -2 3 4 -5 6 -7 -8 -9

1. Convert 33,51 m to mm
33,51m X 10 X 10 X 10 = 33.510 mm
2. Convert 78.310 mm to m
78.310mm = 10+ 10+ 10 = 78,31 m
3. Convert 0,057 m to mm
0,057m X 10 X 10 X 10 = 57 mm
4. Convert 8.070.000 mm to m
8.070.000mm =+ 10 =10 =+ 10 = 8070 m
5. Convert 5.300.000 mm to m
5.300.000mm =10+ 10 = 10 = 5300 m
6. Convert 0,00093 m to mm
0,00093m X 10 X 10 X 10 = 0,93 mm
7. Convert 1200 mm to m
1200mm +-10+-10+-10=1,2m
8. Convert 5,505 m to mm
5,505m X 10 X 10 X 10 = 5505 mm
9. Convert 92.600 mm to m
92.600mm +-10+10=+10=92,6 m
10. Convert 0,00031 m to mm
0,00031 m X 10 x 10 X 10 = 0,31 mm
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Converting Between mm and m (D)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base

+ = R S = > X
G M k h dai 'd ¢ m 2 n
9876543215_?“:-1-2-345-6789

1. Convert 88,68 m to mm

2. Convert 3,3 m to mm

3. Convert 6.310.000 mm to m

4. Convert 53.840.000 mm to m

5. Convert 5.520.000 mm to m

6. Convert 69.500.000 mm to m

7. Convert 0,05764 m to mm

8. Convert 0,298 m to mm

9. Convert 32.340 mm to m

10. Convert 0,00971 m to mm
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Converting Between mm and m (D) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 7 s § g ig g g =
b E Z 2 3 18 8 E E =
- < : — : : —p X
G M k h da: *'d ¢ m M n
9 8 7 6 5 4 3 2 15 -1 2 3 4 5 6 -7 -8 9

1. Convert 88,68 m to mm
88,68 m X 10 X 10 X 10 = 88.680 mm
2. Convert 3,3m to mm
3,3m X 10 X 10 X 10 = 3300 mm
3. Convert 6.310.000 mm to m
6.310.000mm =~ 10 =10+ 10 = 6310 m
4. Convert 53.840.000 mm to m
53.840.000mm + 10 =10+ 10 = 53.840m
5. Convert 5.520.000 mm to m
5.520.000mm =+ 10+ 10+ 10 = 5520 m
6. Convert 69.500.000 mm to m
69.500.000 mm =+ 10 =+ 10 = 10 = 69.500 m
7. Convert 0,05764 m to mm
0,05764m X 10 X 10 X 10 = 57,64 mm
8. Convert 0,298 m to mm
0,298 m X 10 X 10 X 10 = 298 mm
9. Convert 32.340 mm to m
32.340mm =10+ 10+ 10 = 32,34 m
10. Convert 0,00971 m to mm
0,00971m X 10 X 10 X 10 = 9,71 mm
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Converting Between mm and m (E)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
~ < i T ' ' > X
G M k h dai :d ¢ m W n
9876543215"“—1-2—345—6789
1. Convert 47.540.000 mm to m
2. Convert 38.100 mm to m
3. Convert 91,2 m to mm
4. Convert 9.300.000 mm to m
5. Convert 2600 mm to m
6. Convert 0,0078 m to mm
7. Convert 352.500.000 mm to m
8. Convert 0,4703 m to mm
9. Convert 0,0076 m to mm
10. Convert 9,87 m to mm

Math-Drills.com




Converting Between mm and m (E) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 7 s § g ig g g =
B E T & <9 139 8 E E &
- < : — : : —p X
G M k h da: *'d ¢ m M n
9 8 7 6 5 4 3 2 15 -1 -2 3 4 -5 6 -7 -8 -9

1. Convert 47.540.000 mm to m
47.540.000mm =~ 10+ 10+ 10 = 47.540m
2. Convert 38.100 mm to m
38.100mm +-10+10+10=38,1m
3. Convert 91,2 m to mm
91,2m X 10 X 10 X 10 = 91.200 mm
4. Convert 9.300.000 mm to m
9.300.000mm = 10 =+ 10+ 10 = 9300 m
5. Convert 2600 mm to m
2600mm =-10+-10+10=2,6 m
6. Convert 0,0078 m to mm
0,0078m X 10 X 10 X 10 = 7,8 mm
7. Convert 352.500.000 mm to m
352.500.000 mm =+ 10 =10 =+ 10 = 352.500 m
8. Convert 0,4703 m to mm
0,4703m X 10 X 10 X 10 = 470,3 mm
9. Convert 0,0076 m to mm
0,0076 m X 10 X 10 X 10 = 7,6 mm

10. Convert 9,87 m to mm
9,87m X 10 X 10 X 10 = 9870 mm
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Converting Between mm and m (F)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base

- <« | T ' ' > X
G M k h dai 'd ¢ m 2 n
9876543215_?“:-1-2-345-6789

1. Convert 341.000 mm to m

2. Convert 9,493 m to mm

3. Convert 0,00419 m to mm

4. Convert 130.000 mm to m

5. Convert 25,11 m to mm

6. Convert 30.400.000 mm to m

7. Convert 42.300 mm to m

8. Convert 0,00155m to mm

9. Convert 3,41 m to mm

10. Convert 4.400.000 mm to m
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Converting Between mm and m (F) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 7 s § g ig g g =
B E T & <9 139 8 E E &
- < : — : : —p X
G M k h da: *'d ¢ m M n
9 8 7 6 5 4 3 2 15 -1 -2 3 4 -5 6 -7 -8 -9

1. Convert 341.000 mm to m
341.000mm +-10+10+10=341m

2. Convert 9,493 m to mm
9,493 m X 10 X 10 X 10 = 9493 mm

3. Convert 0,00419 m to mm
0,00419m X 10X 10 X 10 = 4,19 mm

4. Convert 130.000 mm to m
130.000mm = 10+10+10=130m

5. Convert 25,11 m to mm
25,11m X 10X 10X 10 = 25.110 mm

6. Convert 30.400.000 mm to m
30.400.000mm =10+ 10+ 10 = 30.400 m

7. Convert 42.300 mm to m
42.300mm +-10+-10+-10=42,3m

8. Convert 0,00155m to mm
0,00155m X 10 x 10 X 10 = 1,55 mm

9. Convert 3,41 m to mm
341m X 10X 10 X 10 = 3410 mm

10. Convert 4.400.000 mm to m

4.400.000mm =10 +10+ 10 =4400m
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Converting Between mm and m (G)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

10.

Base
. ' — o
5 % s § g ig § £ 3 2
"Bh S % & <' s 8 E £ =
: : — : : > X
G M k h da, *d ¢ m M n
9 8 7 6 5 4 3 2 1:0:i-1 2 -3 4 5 -6 -7 -8 -9

. Convert 249.700 mm to m

Convert 0,0069 m to mm

Convert 24.000 mm to m

Convert 6,213 m to mm

Convert 4600 mm to m

Convert 0,06989 m to mm

Convert 0,088 m to mm

Convert 0,476 m to mm

Convert 1.694.000 mm to m

Convert 807.300.000 mm to m
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Converting Between mm and m (G) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 7 s § g ig g g =
b E Z 2 3 18 8 E E =
- < : — : : —p X
G M k h da: *'d ¢ m M n
9 8 7 6 5 4 3 2 15 -1 2 3 4 5 6 -7 -8 9

1. Convert 249.700 mm to m
249.700mm =+ 10 =10 = 10 = 249,7m
2. Convert 0,0069 m to mm
0,0069m x 10X 10 X 10 = 6,9 mm
3. Convert 24.000 mm to m
24.000mm +-10+10=+10=24m
4. Convert 6,213 m to mm
6,213 m X 10 X 10 X 10 = 6213 mm
5. Convert 4600 mm to m
4600mm =10 +-10+10 =4,6 m
6. Convert 0,06989 m to mm
0,06989m X 10 X 10 X 10 = 69,89 mm
7. Convert 0,088 m to mm
0,088m X 10 X 10 X 10 = 88 mm
8. Convert 0,476 m to mm
0,476 m X 10 X 10 X 10 = 476 mm
9. Convert 1.694.000 mm to m
1.694.000mm = 10 =~ 10 + 10 = 1694 m
10. Convert 807.300.000 mm to m
807.300.000mm <+ 10 =+ 10 =+ 10 = 807.300 m
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Converting Between mm and m (H)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base

+ - = SRS B = > X
G M k h dai 'd ¢ m 2 n
9876543215-?“:—1-2—345—6789

1. Convert 6200 mm to m

2. Convert 4060 mm to m

3. Convert 95.300.000 mm to m

4. Convert 21.000 mm to m

5. Convert 51.300 mm to m

6. Convert 19,21 m to mm

7. Convert 0,0685 m to mm

8. Convert 0,089 m to mm

9. Convert 55,67 m to mm

10. Convert 8,707 m to mm
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Converting Between mm and m (H) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 7 s § g ig g g =
B E T & <9 139 8 E E &
- < : — : : —p X
G M k h da: *'d ¢ m M n
9 8 7 6 5 4 3 2 15 -1 -2 3 4 -5 6 -7 -8 -9

1. Convert 6200 mm to m
6200mm -10+-10+-10=6,2m
2. Convert 4060 mm to m
4060mm = 10 +- 10+ 10 = 4,06 m
3. Convert 95.300.000 mm to m
95.300.000mm =+ 10 + 10 = 10 = 95.300 m
4. Convert 21.000 mm to m
21.000mm +-10+10+10=21m
5. Convert 51.300 mm to m
51.300mm +-10+10+10=51,3m
6. Convert 19,21 m to mm
19,21m X 10X 10 X 10 = 19.210 mm
7. Convert 0,0685 m to mm
0,0685m X 10 X 10 X 10 = 68,5 mm
8. Convert 0,089 m to mm
0,089 m X 10 X 10 X 10 = 89 mm
9. Convert 55,67 m to mm
55,67m X 10X 10 X 10 = 55.670 mm

10. Convert 8,707 m to mm
8,707m X 10 X 10 X 10 = 8707 mm
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Converting Between mm and m (I)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base

+ = R R = > X
G M k h dai 'd ¢ m 2 n
9876543215_?“:-1-2-345-6789

1. Convert 35.810.000 mm to m

2. Convert 0,08724 m to mm

3. Convert 0,043 m to mm

4. Convert 0,529 m to mm

5. Convert 0,967 m to mm

6. Convert 240 mm to m

7. Convert 6430 mm to m

8. Convert 840 mm to m

9. Convert 608.300.000 mm to m

10. Convert 1,46 m to mm
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Converting Between mm and m (I) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 7 s § g ig g g =
b E Z 2 3 18 8 E E =
- < : — : : —p X
G M k h da: *'d ¢ m M n
9 8 7 6 5 4 3 2 15 -1 2 3 4 5 6 -7 -8 9

1. Convert 35.810.000 mm to m
35.810.000mm = 10+ 10 + 10 = 35.810m
2. Convert 0,08724 m to mm
0,08724m X 10 X 10 X 10 = 87,24 mm
3. Convert 0,043 m to mm
0,043m X 10X 10X 10 = 43 mm
4. Convert 0,529 m to mm
0,529 m X 10 X 10 X 10 = 529 mm
5. Convert 0,967 m to mm
0,967m X 10 X 10 X 10 = 967 mm
6. Convert 240 mm to m
240mm +-10+10-+10 = 0,24 m
7. Convert 6430 mm to m
6430mm - 10+-10+10 =6,43m
8. Convert 840 mm to m
840mm +-10+-10+-10=0,84m
9. Convert 608.300.000 mm to m
608.300.000 mm <+ 10 =+ 10 =+ 10 = 608.300 m
10. Convert 1,46 m to mm
1,46 m X 10 X 10 X 10 = 1460 mm
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Converting Between mm and m (J)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base

- <« | T ' ' > X
G M k h dai 'd ¢ m 2 n
9876543215-?“:—1-2—345—6789

1. Convert 4,3m to mm

2. Convert 3.700.000 mm to m

3. Convert 38.800 mm to m

4. Convert 0,00058 m to mm

5. Convert 429.000 mm to m

6. Convert 0,0276 m to mm

7. Convert 560.000 mm to m

8. Convert 0,0826 m to mm

9. Convert 0,00055m to mm

10. Convert 283.600.000 mm to m
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Converting Between mm and m (J) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 7 s § g ig g g =
b E Z 2 3 18 8 E E =
- < : — : : —p X
G M k h da: *'d ¢ m M n
9 8 7 6 5 4 3 2 15 -1 2 3 4 5 6 -7 -8 9

1. Convert 4,3 m to mm
4,3m X 10 X 10 X 10 = 4300 mm

2. Convert 3.700.000 mm to m
3.700.000mm =~ 10+ 10+ 10 = 3700 m

3. Convert 38.800 mm to m
38.800mm =+ 10+ 10+ 10 = 38,8m

4. Convert 0,00058 m to mm
0,00058m X 10 X 10 X 10 = 0,58 mm

5. Convert 429.000 mm to m
429.000mm +-10+10+10 =429 m

6. Convert 0,0276 m to mm
0,0276 m X 10 X 10 X 10 = 27,6 mm

7. Convert 560.000 mm to m
560.000 mm = 10 +- 10 + 10 = 560 m

8. Convert 0,0826 m to mm
0,0826 m X 10 X 10 X 10 = 82,6 mm

9. Convert 0,00055m to mm
0,00055m X 10 X 10 X 10 = 0,55 mm

10. Convert 283.600.000 mm to m

283.600.000 mm = 10 =+ 10 + 10 = 283.600 m
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